## Anx B - Work Completion Report

Comp	Company Modi Realty Po		ocharam LLP	Name of contractor	Sruti Choudary	Sl. No.	site bills reg.	575	
Projec	t/site	Nilgiri Heights		Nature of work	Civil Work	Dt. site bills reg.		29/07/25	
Block	no.	A-Block		Work done from date	09/07/25	M-codex bill ID.			
WOn	0.	NA		Work done to date	26/07/25	WO issued?		NA	
WOd	ate	NA		Contractor bill no.		GST bill required?		No	
Sl. No.			Details of w	ork	Qty	Units	Rate ID	Rate	Amount
1	Block	- A - Open Duct	Flat No - 7 & Brickwork	2 10, 2 &3, 8&9 Duct -	42.00	Sft	CW126	13/-	546
2			Flat No - 7 & Plastering	t 10, 2 & 3, 8 & 9 Duct -	84.00	Sft	CW136	19/-	1,596
3			Flat No - 7 & Waterproofin	10, 2 &3, 8&9 Duct -	338.00	Sft	WP106	20/-	6,760/
4	Block - A - Flat No - 4 Lower Basement Columns		Columns Plas	stering work	660.00	Sft	CW130	16/-	10,560/
5	Colum	113							
6									
7									
8									
9									
10									
Remar	ks:							Total	19,462/-
Appro	ved by pro	oject manager		Approved by QS team		Approve	d by Director/	E&D team	n
Sign:		1	10/	Sign:		Sign:			
Date:		129/7	10)	Date:		Date:			

Notes: 1. This sheet replaces installation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details captured in the contractors approved is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include – Soham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent by courier).

1705581169\_intl memo no. 918-001 - Anx C - Guideline Rates Approval Form (1)

G. VIJAY RAJ PROJECT MANAGER

ESTIMA	TE SHEET						
Company Name:		MRPLLP Prepared by:			Vijay Raj		
Project:		Nilgiri Heights					
Work De	scription:	Block - A - Flat No - 7 & 10, 2 & 3, 8 & 9 Brickwork,	Plastering and Water	proofing in	Open Duct		
Contracto	or Name:	Sruti Chowdary					
Date:		29-07-2025					
S.No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Grand Total
OH TOT	Block - A - Flat No - 7 & 10 , 2 &3, 8&9 Brickwo	ork, Plastering and Waterproofing in Open Duct					
	1 Block - A - Open Duct	Flat No - 7 & 10 , 2 &3, 8&9 Duct - Brickwork	42.00	Sft	13.00	546.00	
		Flat No - 7 & 10 , 2 &3, 8&9 Duct - Plastering	84.00	Sft	19.00	1,596.00	
		Flat No - 7 & 10 , 2 &3, 8&9 Duct - Waterproofing	338.00	Sft	20.00	6,760.00	
							8,902.00
-	2 Block - A - Flat No - 4 Lower Basement Columns	Columns Plastering work	660.00	Sft	16.00	10,560.00	
							10,560.00
			Total Amount				19,462.00
	RATEID ; - CW126, CW130, WP106						
	Amount in words :- Nineteen Thousand Four Hund	dred and Sixty Two Rupees Only					
			Charter of the street of				



MENT SHEET								
lame:	MRPLLP	Prepared by:		Vijay Raj				
	Nilgiri Heights							
ription.	Block - A - Flat No - 7& 10,2 &3,8&9 I	rickwork, Plaste	ring and W	aterproofing	in Open Du	ct		
	Sruti Chowdary							
	29-07-2025					-		
		A		Annual Control of the				
Item Head			Width	Height	No's	Quantity	Units	Total Head
Block - A - Flat No - 7& 10,2 &3,8&9 Brickwork	, Plastering and Waterproofing in Open Du	ct						
Black & Open Duct	Flat No - 7 & 10 Duct - Brickwork	14.00	1.00	1.00	1.00	14.00	Sft	
Block - A - Open Duct		16.00	1.00	1.00	1.00	16,00		
		12.00	1.00	1.00	1.00	12.00	Sft	
		SIGNAL PROPERTY.			A CONTRACTOR OF THE PARTY OF TH			42.00
	Flat No - 7 & 10 Duct - Plastering work	14.00	1.00	1.00	2.00	28.00	200	
		16.00	1.00	1.00	2.00	32.00		
		12.00	1.00	1.00	2.00	24.00	Sft	
		SIMPLE TO SE	THE REAL PROPERTY.					84.00
	Flat No - 7 & 10 Duct - Waterproofing	14.00	9.00	1.00	1.00			
Management of the special and the second of		16.00	5.00	1.00	1.00	80.00		
		12.00	11.00	1.00	1.00	132.00	Sft	
								338.00
Block - A - Flet No - 4 I ower Basement Columns	Columns Plastering work	6.00	1.00	11.00	10.00	660.00	Sft	
BIOCK - A - LIBELTO - 4 EGARD DESCRIPTING COLUMNS	Colonial Colonial World	forest consider	and the			parameters and the		660.00
	Tem Head	MRPLLP Nilgiri Heights Rightion:  Name:  Block - A - Flat No - 7& 10 ,2 &3,8&9 E Stutt Chowdary 29-07-2025  Rem Head  Item Description  Block - A - Flat No - 7& 10 ,2 &3,8&9 Brickwork, Plastering and Waterproofing in Open Du  Block - A - Open Duct  Flat No - 7 & 10 Duct - Brickwork Flat No - 2 & 3 Duct - Brickwork Flat No - 8 & 9 Duct - Brickwork Flat No - 2 & 3 Duct - Plastering work Flat No - 2 & 3 Duct - Plastering work Flat No - 8 & 9 Duct - Plastering work Flat No - 8 & 9 Duct - Waterproofing Flat No - 2 & 3 Duct - Waterproofing Flat No - 2 & 3 Duct - Waterproofing Flat No - 2 & 3 Duct - Waterproofing Flat No - 8 & 9 Duct - Waterproofing Flat No - 8 & 9 Duct - Waterproofing Flat No - 8 & 9 Duct - Waterproofing	MRPLLP	MRPLLP	MRPLLP   Prepared by: Vijay Raj   Nilgiri Heights   Nilgiri Heights   Strutt Chowdary   Plastering and Waterproofing   Name: Strutt Chowdary   Plastering and Waterproofing in Open Duct   Plastering work   14.00   1.00   1.00   1.00   Plastering work   15.00   1.00   1.00   1.00   Plastering work   15.00   1.00   1.00   1.00   Plastering work   15.00   Plastering work   15.00   Plastering work   15.00   Plasteri	MRPLLP   Prepared by:   Vijay Raj   Nilgiri Heights   Nilgiri Heights   Nilgiri Heights   Nilgiri Heights   Nilgiri Heights   Nilgiri Heights   November   Name:   Strut Chowdary   Strut Chowd	MRPLLP	MRPLLP

## **Bill for Consumables**

Sruti Choudary , H.No - 325, Balaji Nagar Hyderabad

Date: 29.07.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam. Civil Work.

Type of Work: Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Block - A - Flat No - 7 & 10, 2 & 3, 8 & 9 Brickwork, Plastering and Waterproofing in Open Duct and Flat No - 4 Lower basement Columns Plastering work.	Rs. 3,892/-
	Total Amount = 19,462/- Work done from date 09.07.2025 to 26.07.2025.	conset the last

Amount in words: Three Thousand Eight Hundred and Ninety Two Rupees Only.

Sign:	
DIB.	-

## **Bill for Equipment Allowance**

Sruti Choudary , H.No - 325, Balaji Nagar Hyderabad

Date: 29.07.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Civil Works.

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Block - A - Flat No - 7 & 10, 2 & 3, 8& 9 Brickwork, Plastering and Waterproofing in Open Duct and Flat No - 4 Lower basement Columns Plastering work.  Total Amount = 19,462/- Work done from date 09.07.2025 to 26.07.2025.	Rs. 7,785/-

Amount in words: Seven Thousand Seven Hundred and Eighty Five Rupees Only.

Sign:			
0 .			

## Bill for Labour Charges

Sruti Choudary , H.No - 325, Balaji Nagar Hyderabad.

Date: 29.07.2025.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work: Towards: Civil Works. Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of Block - A - Flat No - 7 & 10, 2 & 3, 8 & 9 Brickwork, Plastering and Waterproofing in Open Duct and Flat No - 4 Lower basement Columns Plastering work.  Total Amount = 19,462/- Work done from date 09.07.2025 to 26.07.2025.	Rs. 7,785/-

Amount in words: Seven Thousand Seven Hundred and Eighty Five Rupees Only.

Sign:			
0	 	 	